Math 75B Worksheet — The Really Awful Truth about z < 0
Due with homework on Wednesday, February 18

Recall that for z > 0 it is true that :%3 = w—lﬁ, but for x < 0 this is not true! For example,

for x = —1 Wehaveﬁ:—l, but 1/ﬁzl. So for x < 0 we have

1 1

3 x0
(notice the extra minus sign).
On the other hand, x—lg, =y x—lg for all x # 0, both positive and negative! (Check it for x = —1
to verify.)
The best way to figure out if you need to add a minus sign in this type of situation is to test

it with x = —1. If it comes out wrong, put in a minus sign.
Here are some exercises to check your understanding:

Part I.

For each expression in exercises 1 to 7, assume z < 0. Decide whether a minus sign should
be added to the front of the radical. Put in a (4) or (—) sign for each one to make the statement
correct for z < 0.

1_ /1 1 a1
1. == - 5. = = =y

1 1 1 3/ 1
2.2= \w 6. 2m= (/=

1 1 1 4 1
3 D z10 7 /5 24/5

1 3

For exercises 8 to 14, fill in the correct power to make the statement true, and fill in the
correct sign in front of the radical, assuming x < 0.

8. L = fm 12. L = ‘”’fm
9. 5= 49%5 13. H5 = aﬁ
0. 2= 14 U gr= /14
1. & = gfm

over for more fun!



Part II. Find each limit. Be careful when x — —oo! You may complete these problems on
separate paper if you need more room.

xt =223+ 1

1. lim
v—00 /318 4 5ab — x + 2

. xt =23+ 1
2. lim
z——00 /328 + 56 — z + 2

3 i — =222 +1
. lim
a—oo /3210 4 427 — 22 + 1

4l —3 — 227 +1
. lim
v——00 /3710 + 427 — 22 + 1

Va2 =3z + 10

e T+ 2

Va2 —3x 4+ 10

6. i
- Va3 —1

m —
z——o0 322 4+ Hx — 2



